* You will be randomly selected to be either Player 1 or Player 2

* You will keep your role as Player 1 or Player 2 throughout the
experiment

* Player 1 and Player 2 take turns in choosing between two actions.
Those actions are "Take" or "Pass"

* You will participate in the decision procedure many times; each
participation repetition is called a "round"

* In each round you will be matched with a different person

* The first player to click on “Take” ends that round and determines
the payoffs of both players in that round as shown at the node
where he/she clicks on “Take”.

* You will be paid the sum of the payoffs from all rounds
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